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GCSE Exam Questions: How to Calculate Volume

1) Work out the volume of the pyramid

(2 marks)
2) (a) Anoil tank is in the shape of a cylinder.
1.5m
The tank currently has 300 litres of oil in it. How many more litres of oil
will fit in the tank? (1m?* = 1000L)
“4)
(b) Oil costs 45p per litre. How much will it cost to fill the rest of the tank?
1)
(5 marks)
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3) (a) Work out the volume of the prism

3cm

(2)
(b) A circular hole of diameter 1.6cm is drilled through the centre of the
prism. Find the volume of the shape that remains.
3cm
4
oem |
i 10em
6cm
3)
(5 marks)
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4) These two shapes have the same volume. Work out the height of the

cuboid.

8ecm

4dem
2cm, 4em,

(4 marks)
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Question Answer Marks
1) Work out the volume of the pyramid 10 x10 =100 1)
% % 100 x 12 = 400cm? 1)
/A 2cm
£ \oem
10cm
2) (a) | An oil tank is in the shape of a cylinder. T x 0.7 x1.5 a1
2.309m? 1)
2.309m* = 23009 litres 1)
2309 - 300 = 20009 litres 1)
1.5m
The tank currently has 300 litres of oil in it.
How many more litres of oil will fit in the
tank? Give your answer to the nearest litre.
(1m*=1000L)
(b) | Oil costs 45p per litre. How much will it cost | 2009 x 0.45 = £904.05 1
to fill the rest of the tank?
3) (a) | Work out the volume of the prism % (3+6) X5=225 1)
3cm
22.5 X10=225cm? 1)
[ 5cm
10cm
6cm
(b) | A circular hole of diameter 1.6¢m is drilled 7 x 0.8% x 10 4))
through the centre of the prism. Find the
volume of the shape that remains. 20.11cm? 1)
dem 225-20.11 =204.9cm? 1)
5cm
i 10cm
6cm
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Question Answer Marks
4) These two shapes have the same volume. 1 x2x8=8 1)
Work out the height of the cuboid. 2
8x 6=48 1)
4 X4 X h =48 oe 1)
8cm h = 3cm (1)
6cm 4em
2cm, dem
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Where to go next?

For more diagnostic questions, and GCSE maths revision resources and
worksheets to support students in fixing any misconceptions take a look
at the free Third Space Learning GCSE maths revision pages.

Scan the QR code to discover our library of FREE GCSE maths revision
resources

Do you have KS4
students who need
additional support in
maths?

Our specialist tutors will help students to develop the skills they need to
succeed at GCSE in weekly one to one online revision lessons. Trusted
by secondary schools across the UK.

Visit thirdspacelearning.com to find out more.
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